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For we do not find anywhere in the entire 7771n; that this one benefits
and this other one is liable

Overview

X2 stated that even if we assume that w"2 maintains 77°2v 1272 9w v, nevertheless
if the nown told the m°>w, ‘go and eat 251°, the 5w would be 211 (but not the nown),
since we never find a case where one person has X317 from 710°X, and another (the
nown) should be liable. 20N questions this premise.

n1voIN asks:
= UTPN YU AT 995 DN NYHYY 9211 99N ONY 1DV NIIN N 9NN ON)

And if you will say; but there is the case of 79°%¥» where we do find 7 nam1

2»nnn; for if the treasurer of w7pr said to a mbw, ‘eat this loaf® of w7ps,
= NID ANNN N NINI NTINNNY NHWNN 29NT 2uTPNn YV NIIY Y1 NY 1YY

and the m"%w (and the n>wn) did not know that the loaf belonged to w7p:; the rule
is that the n>w» (the nan) is liable for 7°vi; but why is the 2»n nbwn since it is a

case of 117 (the m5Ww) mama and 7 (the nPwWn) 291N, which X271 states that 22 1R X7
7212 Ann?!

BN answers:
= NOYIYT NNIN 2T DY NN NYIYN NNIN T DY NHWNN 39NNN KT NIOYNT 9D v

And one can say that regarding 7797w, the n>w?» is not 217 on account of the mbw
deriving benefit from the w7pn (for that would be considered 2*nnn 7n 7171 77),

rather the nown is 21 through the 9w lifting up the wpn item (the 123) -
= NYYN 29N NNYY NONNY NP NIV NYNAINT TINT

For as soon as the mv»w lifted the w7pn item, the m>w acquired it (and thus removed
it from w7p7 M) and at that moment the m>w» is 72°vn1 2997,

! The X"w=nn amends this to read m>wnm (instead of Wi [but the MW knew, w"»y]). The 2"wmn interprets '01N to
mean that both the m>w and the n>wn did not know that it was wTps.

2 The a2°vn 21m is only by 3w, not by 711, See XX 7"1n 2,21 (TIE footnote # 4).

3 We learnt on the previous T1n¥ that by 77°vn there is ¥"272 mm>w. See w"X17 '01n who proves that this is true (¥" 77w
72°yn3) even in a case of ">y ,2nnn a1 7373 1.

4 The 77°yn 211 of the MW is not later when the MW eats the 123 of wIpn (for that is 21 7371 77), but rather as soon
as the m°%w picked up the 133, when he did not derive any nX37 from it yet, but since he picked it up he acquires it and
thereby removes it WP N which constitutes 77°vn, for which the nown is 2°1. [However by 251 n9°2K the MOR is
only the 79°2X (there is no Mo°R for picking up 271 [as there is by wpn]), therefore the nown is MWD since it is a case
of 2> nnn 7M1 7171 77.]
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mooIn poses a dilemma:
= 119501 119 NINM IV JY 130 T LYIN NMOYD 9IIN PNYY 13929 NN 5POIDN DINN

The >'"9 was doubtful, however, in a case where one said to a mbw, ‘stick your

hand into a pitcher of oil and enjoy the massage’ -
- UTPN YW ONT Y1 RY SHYIUM NYIY 1A DHRNND IN WTPN YY MY Y AW IN

Or he told the m°%w, ‘sit on hides of WP, or warm yourself with the shorn wool

of a 79w 1277°, and the r°>w did not know that they belong to w7p: -
= ININD I NN NYY INVY NI XOYNT

So now in this case he did not make him a m»w to acquire w7p:, but merely to

derive benefit from w7p7; the question is -
199N NY 29051 A NN N XNTIT IN NIOYN) ’3) 199NRTI nYYNH 2NN ON

Whether the n»w» will be 2517 as we normally say regarding 7%°w» that ¥" 750, or
perhaps we do not say 2%71n% 773Y 173771 7% even by 17°vn?

Summary
There is ¥"27% mmow by 72°vn if the % was nnp the wipn prior to his 1R, the

question is if there is MW when there is only X177 (and no 7°3p prior to the nR17).

Thinking it over

Moo seems to be contradicting himself. Initially m»oin asked how can 827 say X9
421 1373 77 °¥n when we find it by 177°yn. The answer was that 77°n is possible
without 7R37. This answer indicates that if the 79°¥% requires (only) 1X17 there would
be no mmHw. So how can MooIn be doubtful® whether there is 72°ym2 MW when
there is only X317, And if Mo01n considers that there can be mP>w by 7%2°vn1a nR1A,
this contradicts the ruling of 827 that "1 73771 77 %% X5!°

3 See ‘Thinking it over’.

¢ See footnote # 1.

7 There is MW by 7m1n where there is no X317 for the m°»w. By Ny %257 we assume there is no Mm»w since 7
21 73m. We derive mim>w by 12°vn from 7m0, By 72°vn there are two possibilities either the n°9w has X117 (like 2w
wTPn YW MW 2Y) or he has no nx31. The question of the > may be, do we compare it completely to 770 (where
there is no 7R3 for the m7w) so similarly the T%°% of MW by 72°y» is only where there is no 7R3 prior to the 72°yn
(like 73 731 117), or do we say that once we derive mmow by 2°¥n and by 77°vn is it is possible for there to be 7R3
at the time of 719°¥n, so the T (from 7mN) teaches us that in all cases of 72°y» there is MW even if there is X7
at the time of 79°yn (for 7INXR2 PRI 711 N7) in contrast to 121 7373 7.

8 See footnote # 5.

® See X"y 1 and TN WD XX # 251-2.
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